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import java.util.¥*;
public class Main {
static int[] fa;

pubTlic static void main(String[] args) {
Scanner sc = new Scanner(System.in);
int n sc.nextInt();

sc.nextInt();

fa = new int[n + 1];

for (int i = 1; i <= n; i++) {
fali] = 1i;

int m

}
for (int i = 0; i < m; i++) {
int type = sc.nextInt();
if (type == 1) {
merge(sc.nextInt(), sc.nextInt());
} else if (type == 2) {
int a = sc.nextInt();
int root = find(a);
fal[al = a;
fa[root] = a;
} else {
System.out.printin(find(sc.nextIint()));

public static void merge(int x, int y) {
fa[find(x)] = find(y);

pubTlic static int find(int x) {
if (fa[x] '= x) {
fa[x] = find(falx1);

}
return fa[x];
}
3
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import java.util.*;
public class Main {
public static void main(string[] args) {

Scanner sc = new Scanner(System.in);
int n = sc.nextInt();
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int k = sc.nextInt() - 1;

int[] arr = new int[n];

for (int i 0; i <n; i++) {
arr[i] sc.nextInt();

3
int[] dp = new int[n];
int maxl = 0;
if (arr[0] < arr[k]) {
dp[0] = 1;
maxl = 1;
}
for (int i =1; i < k; i++) {
if (arr[i] < arr[k]) {
dpl[i] = 1;
for (int j =0; j < 1i; j++) {
if Carr[i] > arr[j]) {
dp[i] = Math.max(dp[i], dp[j] + 1);

}

max1 Math.max(max1l, dp[i]);

}
int max2 = 0;
if (k + 1 < n & arr[k + 1] < arr[k]) {
dplk + 1] = 1;
max2 = 1;
3
for (int i =k + 2; i <n; i++) {
if (arr[i] < arr[k]) {
dp[il = 1;
for (int j =k + 1; j < 1i; j++) {
if Carr[j] > arr[i]) {
dp[i] = Math.max(dp[i], dp[j] + 1);

3
3
3
max2 = Math.max(max2, dp[i]);
}
System.out.println(maxl + max2 + 1);
}
3
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import java.util.HashMap;
import java.util.Map;
import java.util.Scanner;

pubTlic class Main {

public static void main(string[] args) {
Scanner sc = new Scanner(System.in);
String str = sc.next(Q);
Map<Character, Integer> map = new HashMap<>(Q);
for (char c : str.toCharArray()) {
map.merge(c, 1, Integer::sum);
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}

if (map.size() == 1) {
System.out.println(l);

} else if (map.size() == 2) {
System.out.println(3);

} else {
System.out.println(6);
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import java.util.Arrays;
import java.util.Scanner;

public class Main {

public static void main(string[] args) {
Scanner sc = new Scanner(System.in);
int[] arr =
Arrays.stream(sc.next().split("\\*")) .mapToInt(Integer::valueof).toArray();
int gcd = gcd(arr[0], arr[1]);
System.out.printin(arr[0] / gcd + ":" + arr[1l] / gcd);

public static int gcd(int a, int b) {
while (a > 0) {
int tmp = b % aj;

b = a;

a = tmp;
3
return b;
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